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Test 8C

AP Statistics Namé:

Directions: Work on these sheets, A random digit table is attached.

2.

3.

Part 1: Multiple Choice. Circle rhe letter corresponding to the best answer.

It has been estimated that about 30% of frozen chickens contain enough salmonella bacteria to
RIS l!hlless if improperly cooked. A consumer purchases 12 frozen chickens. What is the
probability that the consumer will have more than 6 contaminated chickens?

(a) 0961 ? \ 4 \

() 0.118 PLX )

(Q 0-882 — ()\. :— .«‘ \ ' ()27 .
@.039 - p
e) 0.079

The probability that a certain machine will produce a defective item is 0.20. If a random sample of

6 items is taken from the output of this machine, what is the probability that there will be 5 or more
defectives in the sample?

(a) 0.0001
(b) 0.0154 p(X25 )

(c) 0.0015

0.0016

d) 02458 |- p(x4 )= 006

A professional basketball player sinks 80% of his foul shots, in the long run. If he gets 100 tries
during a season, then the probability that he sinks between 75 and 90 shots (inclusive) is
approximately equal to: ‘ = ()X ) - §6 '
Pr(-1.25 <=7Z<=25) ne - |
b) Pr (-1.125<=Z<=2.625) 2= YY) :
(c) Pr(-1.125<=Z<=2.375) \J” P(}P} \] (.4 ?f;.br 9: q
(d) Pr(-1.375<=Z<=2375) %5-&0 { X & jyo*g-G :> 4.35 < 2t 085
(e) Pr(-1.375<=Z<=2.625) 4y = -7y

If X has a binomial distribution with n =400 and p = .4, the approximate probability of the event \
155 <X <175} is: \ ’ e _ (xl )5
Coesss P(x-’-D?)- P(x¢15€> =, p(X: f99)- pCXE 57)
6429 ; L _
() 0.6078 QR0 t- k| - 6972
(d) 0.6201 '
(e) 0.6320

If in the previous question we change the interval to 155 <= X <= 175, the approximate probability

s P(x£,7§)-P(_KE.i5‘§) - GI86
Larger than that in the previous question

(c) Smaller than that in the previous question

(d) Equal to that in the previous question

(¢) May be smaller or larger than that in the previous question

Chapter 8 1 Test 8C
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(a) less than 0.0001. f v YEO) ,

(b) less than 0.001. pL XV np20
ess than 0.01. L dANT 00¥7 o) 210
0.9960. I“pALs ='e ntis

(e) none of these.

C

%

B

: i crease in the state sales
6. A survey asks a random sample of 1500 adults in Obio if they support an Incre

. A fair coin (one for which both

. Suppose we select an SRS of size n= 100 from

in the
g . denote the pumber 10
tax from 5% to 6%, with the additional revenue going to education. Let X

.~ Ohio support the
sample that say they support the increase. Suppose {hnat 40% of all adults 10 p
increase. The probability that X is more than 650 is

the probability of heads and the probability of tails are 0.5) is
tossed six times. The probability that less than 1/3 of

the tosses are heads is )
(a) 0.344. . 2) = p( “ | Y= , (U
0.33. Pty = (
.109.
(d) 0.09.
(e) 0.0043.

a large population having proportion p of
successes. Let X be the number of successes in the sample. For which value of p would it be safe to
assume the sampling distribution of X is approximately normal?

@0.01 \O

1/9 T\.g ==

0.975 ('.Kb LF\ .4 )
(d) 0.9999 A
() All of these. p .|

Suppose we roll a fair die ten times. The probability that an even number occurs exactly the same
number of times as an odd number on the ten rolls is

(2) 0.1667.

. Rolling 10 s w/ same number even #
' . gﬁgé odds Smeons i+ has to e & wlls each
(d) 0.5000.
() None of these. o PO( =5): 4G |
Chapter 8 2
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P — Part 2: Free Response >V
completely, but be concise. Write sequentially and show all steps. N = 10000
10. The Interng) Reven S= .08

: ue Service estimates that 8% of all filli t long fi ak

mistak o of all taxpayers filling out long forms make

probabeils{ Suppose that a random sample of 10,000 forms is selected. What is the approximate
1y that more than 800 forms have mistakes?

QRow wpition ot bavomeal
n= 10000 (10000)(.0F ) = §00210 v

N(§00 97.13)

p= .OF (toco0) (., §2): 9200210 / p(x »§00 ) = }}-p((x_i,i(;o}:
. - p(zL 907
\/L{Jx:'np: &AOO j....f)_.'f;
_,5}.& mp\(l-p) = Jtoco.on(.52) = 715
P(X> §edd: I- ﬁéxeroc%f?/.w:z({)qq: ) F30C ]| Thee 18 @& E'Pfabﬁh”-}j Hot macthen

00 feans howt mﬁh"[‘”—

11. A survey conducted by the Harris pollidg organization discovered that 63% of all Americans are
overweight. Suppose that a number of randomly selected Americans are weighed.

(a) Find the probability that the fourth person weighed is the first person to be overweight. 3 auecweight 7

P(X:‘l) = (.3D.63) = . 0319 ?5
9

The LDOL’).l that Hu ‘p,\(-gf' pe(xen Hhat u.).’“ le OL,‘f(‘u_)(rEfﬂf s=.63

S ‘Hf;cqﬁ' aon I3 .03 4, : Geawednie

(b) Find the probability that it takes more than 4 people to observe the first overweight person.
DEx>H)= |- Xed)= |-.9815 = .0I€7

The edorl i Hhot T ool fc\[u MOre Han

Rest ovecuXioht pecan 13 . OIf7.
(c) %Sind the mean ant?variaﬁ:i of the number of Americans that would have to be weighed in

order to find the first person who was overweight.

M= 5= g5 = b5€7

o pewple 16 fnol He

O-p)  (37)
vgﬁance: —ﬁg‘: Z,—Zs)n = G338
Dont neecl
e ot
Chapter 8 3 Test 8C
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12. Amarillo Slim, a professional dart player, has an 80% chance of hitting the bullseye on a dartboard
with any throw. Suppose that he throws 10 darts, one at a time, at the dartboard.
5 3 hif v
(2) Find the probability thgt Slim hits the bullseye exactly six times. s o
px=G) = (YR (.P"= 0881 W0
The Fpmlmlo;/.g Hat he Wil it the laget & fanss 1y o1 S > .8
(b) Find the probability that he hits the bullseye at least gour times.
PUX3YY= -P(Xe 3 = 1= (( NP = |-, 0356 = 9641
Tle probabiidy that he will bt lawget more Than o fonsy
s 9644,
(c) Compute the mean and variance of the number of bullseyes in 10 throws.
Ax=np = (Y. =
dx = i(n )@)(,.p)-:r 2G5
(d) Find the probability that Slim’s first bullseye occurs on the fourth throw. -
(6= o (DD aoey B> b ormis
i T2 molsprrols
The Pfobob. I'+‘:S +\Q§If' },'g\q B 1’1)”56‘3& occss on Fu foorth To 5 'prolsn~
(¢) Find the probability that it takés Amarillo more than 2 throws to hit the bullseye, 5 > .d

PLY S = |- PCYe )= QOB - )-.96 = . 09 .
Tle pmbcloi/:ﬁj Haot if“*‘calqs Shan More than L Hhews /S N4

13. Harlap comes to class_ one day, totally unprepared for a pop quiz consisting of ten multiple-choice
questions. Each question has five answer choices, and Harlan answers each question randomly.

(a) Find the probability that Harlan guessés more answers correctly than would be expected by R > corredt?

chance. (GHOHE n=10 p-.2 LV
EQS= (n)(p)= (0= & IVEYe
S9.,2

PLX>3Y= )= p(XedY= |- @078 = . 320a

Ths probo\btl'.g;‘hcﬁ— Hee lan guesses roce than & (expectd valve )

teccect N LA
(b) Find the probability that Harlan’s first correct answer occurs on or after the fourth question.
B v

PW>U)= |-PCY 2 3)= |- 4§ = ,5 )2 B

Tha Prolgab.'l.fj Hhot Herlans Resh forrect  ans grec oCcus an a— ;-Z

aftec Hu feuthn queshon s 5.

I pledge that 1 have neither given nor received aid on this test.
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